AIZAIDF AT

EEr BRR BABKAS 1A(4) U4
(BEEDT>F >/ iEA)

AJ[ iz I AH S [ §
1|26 AP S50 |mromsazrz=azo-n | Bk |13 4-0 4-0 2-0| 141
2| =AM FE[ AIFZA Et|12 0-4 4-2 1-1| 2f
317410 =i T.TLBRL (13| 0 -4 2-4 0-2| 3
4

BT = ;
1|s38| 5B AT OYRFZZAR—1 Bt (12 0-4 4-1 1-1| 21
2| | ST A M7= A7hFE- | B (12| 4 -0 4-2 2-0| 1M
3|sss|/NEF ELA O RFZZR-1 B2 1-4 2-4 0-2| 3Mu
4

] i E  HH B B B g

1{ws| |1 |FH BEKRER  [l2500ITA B |13 4-0 4-1 2-0| 141
2| (LLEE 1BE B|12] 0-4 4-2 |1-1]| 3z
30| BT |[KREECNSLEE [ BHE|13] 1-4 4-2 |1-1| 2Mu
4 || 12 || BESL EREIFNEF=2Y57 | BiE|12 2-4 2-4 0-2| 4
Ub—)L -SR] (S>> A Mg )

< FiRU-J%. NBRIBI b—F XD MEATRWET, 1,26 —F X 3, 4Ih—F X0 b

A N)-JD5EF1vs2 - 3vsd/1vs3-2vsd /D2 EZITVET,

JBEACREF AR, OB QBEETR @8%kmE @70F>) DIEETRELET .
T AT - LERR/-T RIS T-SHROFE

CAREE 65— LR/ T RIS TF-SHROFE

IHEBEBRRZE .



https://www.spojin.com/ranking/pdf/20171019ranking.pdf

P ZO2DDE ANYT

Z)q = )7 saiense varon —= LML -\ 1 4 1 4
1,2 h=FX> b 3,40 =X~

HHFfr 3558 ImE:

BHORS1=FT=ZR0- ] T.TLBRL
Na Es
N 64
bye =ITNiEN
EREFNET=RI5T
HPT 7598 %
o 61 . _ 62

=1 v LLI%E 2=

OYRFTZAR=A
Hhix K /NEF BLK
_ 62 61

=H BB /NEF LK

RIEE> MIILETE OYRFTZAR=A
LI EEXER
64

LLIEH §EKEB

EBEMDITA

LI EEXER
62
AH [EiR
AT
LI EEKER
61
bye

FEE K

B 17T AT HT =~




SrLJSvys

4
It 5

(t
i
)

B . L o CRAN ~ :&:"“
e : - Lo

AEE

(1450 T DEP]
{BHS : |LE AR BT
$EBHS : M B BT




